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#include <SoftwareSerial.h>
#include <Servo.h>
char val;

int LED1 = 13;
Servo myservol,
Servo myservoz,;
int MotorAl = 5;
int MotorA2 = 6;
int MotorB1 = 7;
int MotorB2 = 8;
int ServoA = 4;

int ServoB = 12;

int MotorA_AccValue = 100, MotorB_AccValue = 100;
int MotorA_Forward_Flag = 0, MotorA_Backward_Flag

MotorB_Backward_Flag = 0;

int ServoA_Up_Flag =0, ServoA_Down_Flag = 0, ServoB_Right_Flag = 0, ServoB_Left Flag =0;

unsigned long currentTime = 0;

void setup() {
Serial.begin(9600);
Seriall.begin(38400);
pinMode(LED1, OUTPUT);
myservol.detach();
myservo2.detach();
pinMode(MotorAl, OUTPUT);
pinMode(MotorA2, OUTPUT);
pinMode(MotorB1, OUTPUT);
pinMode(MotorB2, OUTPUT);

void loop() {
currentTime = millis();
if (Seriall.available())
{
val = Seriall.read();
if(val == 11)
{
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Serial.printin("MotorA_Forward");
MotorA_Forward_Flag = 1;
MotorA_Backward_Flag = 0;

}

if(val == 12)

{
Serial.printIn("MotorA_BackWard");
MotorA_Backward_Flag = 1;
MotorA_Forward_Flag = 0;

}

if(val == 13)

{
Serial.printin("MotorB_Forward");
MotorB_Forward_Flag = 1;
MotorB_Backward_Flag = 0;

}

if(val == 14)

{
Serial.printin("MotorB_Backward");
MotorB_Backward_Flag = 1;
MotorB_Forward_Flag = 0;

}

if(val == 15)

{
Serial.printin("MotorA_Stop™);
MotorA_AccValue = 100;
MotorA_Forward_Flag = 0;
MotorA_Backward_Flag = 0;
analogWrite(MotorAl, LOW);
analogWrite(MotorA2, LOW);

}

if(val == 16)

{
Serial.printin("MotorB_Stop");
MotorB_AccValue = 100;
MotorB_Backward_Flag = 0;
MotorB_Forward_Flag = 0;
analogWrite(MotorB1, LOW);
analogWrite(MotorB2, LOW);

}

if(val == 22)

{
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Serial.printin("ServoA_Up");
ServoA_Up_Flag =1;
ServoA_Down_Flag = 0;
myservol.attach(ServoA);

}

if(val == 23)

{
Serial.printIn(""ServoA_Down");
ServoA_Up_Flag =0;
ServoA_Down_Flag = 1;
myservol.attach(ServoA);

}

if(val == 24)

{
Serial.printIn("ServoB_Right");
ServoB_Right Flag =1,
ServoB_Left Flag =0;
myservo2.attach(ServoB);

}

if(val == 25)

{
Serial.printin("ServoB_Left");
ServoB_Right_Flag = 0;
ServoB_Left Flag=1;
myservo2.attach(ServoB);

}

if(val == 26)

{
Serial.printin("ServoA_Stop");
ServoA_Up_Flag =0;
ServoA_Down_Flag = 0;
myservol.detach();
//myservol.write(69);

}

if(val == 27)

{
Serial.printIn("ServoB_Stop");
ServoB_Right_Flag = 0;
ServoB_Left Flag =0;
myservo2.detach();

//myservo2.write(69);
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if(MotorA_Forward_Flag == 1)
{
if((currentTime % 10) == 0 && (MotorA_AccValue < 255))

{

MotorA_AccValue++;
}
analogWrite(MotorAl, MotorA_AccValue);
analogWrite(MotorA2, LOW);

}
if(MotorA_Backward_Flag == 1)
{
if((currentTime % 10) == 0 && (MotorA_AccValue < 255))
{
MotorA_AccValue++;
}

analogWrite(MotorAl, LOW);
analogWrite(MotorA2, MotorA_AccValue);

}
if(MotorB_Forward_Flag == 1)
{
if((currentTime % 10) == 0 && (MotorB_AccValue < 255))
{
MotorB_AccValue++;
}

analogWrite(MotorB1, MotorB_AccValue);
analogWrite(MotorB2, LOW);

}
if(MotorB_Backward_Flag == 1)
{
if((currentTime % 10) == 0 && (MotorB_AccValue < 255))
{
MotorB_AccValue++;
}

analogWrite(MotorB1, LOW);
analogWrite(MotorB2, MotorB_AccValue);

if(ServoA_Up_Flag == 1)
{

myservol.write(180);
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}

if(ServoA_Down_Flag == 1)

{

}

myservol.write(0);

if(ServoB_Right_Flag == 1)

{

}

myservo2.write(180);

if(ServoB_Left_Flag == 1)

{

myservo2.write(0);
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